IN240700256V01_US_CA

370-371V80

fé)
Styles and colors may vary Q

e Suitable for 3-8 years.
WARN I N G e Maximum user weight:30kg.

Must be assembled by an adult.

Read and understand this entire manual before using!

Please keep this manual for future reference as it contains important
information. Before first time use, charge the battery for at least 4-6 hours,
but no more than 10 hours.

OWNER’S MANUAL




Instruction sheet and packaging must be retained since it
contains important information.

NOTE:For best performance,only use this vehicle on flat and hard surfaces.

AGE RANGE:3 to 8 years old

WEIGHT CAPACITY:30KG is the maximum weight for 1 rider(combined)

The following safety hazards may result in serious injury or death:

® This product contains small parts.Keep children away during assembly.Make sure to
remove all packaging material and parts from underneath the vehicle body.

® Never open the battery.Batteries contain lead and lead compounds(acids).

® Limbs,hair,and clothing can get caught in moving parts.Always wear shoes,keep
limbs away from moving parts,and do not wear loose clothing while operating this
vhicle.

® This vehicle does not have brakes or braking capability.Do not leave a child
unattended during operation.DO not use this in a location that may require braking
capability.as this could result in loss of control,which may cause serious injury or
death.

® Use of this vehicle near streets,motor vehicles,steps,bodies of water,sloped
surfaces,hills,wet areas,flammable vapors,in alleys,at night,or in the dark could
result in an unexpected accident.

® Usu of this vehicle in unsafe conditions such as snow,rain,loose dirt,mud.sand,or
gravel may result in an unexpected accident such as tipping over,and could damage
the electrical system or battery.

® Do not operate this vehicle in an unsafe manner.Examples include but are not
limited to:
-pulling the vehicle with another vehicle or similar device
-Allowing more than two children to ride
-Pushing the user

-Traveling at an unsafe speed

The battery charger used with the electric toy shall be regularly examined for
damage to the supply cord, plug, enclosure or other parts, and in the event of

damage, it shall not be used until the damage has been repaired.



BATTERY WARNINGS

The following safety hazards may result in serious injury or death:

® Use of a battery or charger other than the supplied rechargeable battery and charger
may cause a fire or explosion.Only use the supplied battery and charger.

® Use of the rechargeable battery and charger for any other product may result in
overheating,fire,or explosion.Never use the supplied rechargeable battery and
charger with another product.

® Explosive gases are created during charging.Charge the battery in a well-ventilated
area.Do not charge the battery near heat or flammable materials.

® Contact between the positive and negative terminals may result in fire or
explosion.Avoid direct contact between the terminals.Picking up the battery by the
wires or charger can cause damage to the battery and may result in a fire .Always
pick up the battery by its case or handles.

® Liquids on the battery may cause fire or electric shock.Always keep all liquids away
from the battery and keep the battery dry.Contact or exposure to battery leakage(lead
acid)may cause serious injury.If contact or exposure occurs immediately call your
physician.If the chemical is on the skin or in the eyes,flush with cool water for 15
minutes.If the chemical was swallowed,immediately give the person water or
milk.Do not give water or milk if the patient is vomiting or has a decreased level of
alertness.Do not induce vomiting.

® Battery posts,terminals,and related accessories contain lead and lead
compounds(acid)

® Tampering or modifying the electric circuit system may cause a shock,fire or
explosion and permanently damage the system.Exposed wiring and circuitry in the
charger may cause electric shock.Always keep the charger housing closed.



USER WARNINGS

The following safety hazards may result in serious injury or death:
Never leave a child unattended.

Always sit in the seat when using this vehicle.

Keep your hands,hair,and clothes away from moving part.
Always wear shoes when operating this vehicle.

Maximum of two children are allowed in the vehicle at a time.
Children under 3 years of age cannot use the vehicle.

Only drive on level ground.

Do not go near swimming pools or other bodies of water,drop-offs,or up and down

steep inclines.

Do not drive the vehicle into loose dirt,mud,sand,fine gravel,or on wet surfaces.

® Do not drive the vehicle on streets or near cars.

SPECIF | CATIONS

Item Specification
Batteries 12V
Motor 12V
Age 3-8 years

Max Weight | 30KG
Dimension 107x65%55.5cm
Speed 1-3km/hr (12V)
Play Time 1-2 hours / recharger time 8-12hours
Charger Output DC 12V




TOOLS REQUIRED ;:,1\~.-

i

SCREWDRIVER NEEDLE NOSE PLIERS 2 PERSON APPROXIMATELY
ASSEMBLY 45 MIN.
(BRING YOUR OWN) (NOT INCLUDED) ASSEMBLY

" M4*12mm 9 ¢ 10 GASKET 9 Nut M10
SCREW Preinstalled
e
= )
RS
7z )
24 PCS 7 PCS 4 PCS

WINDSHIELD

MIRROR (L/R)

&L =

2 PCS

Q CART WHEELS @ @ WHEEL COVER m

GSTEERING WHEEL @ AUXILIARY m

WHEEL (L/R)

REMOTE CONTROL

1 PGS

CHARGERS DOOR ARMREST

A

2 PCS



https://fanyi.baidu.com/
https://fanyi.baidu.com/
https://fanyi.baidu.com/
https://fanyi.baidu.com/

mGEAR BOX (L/R) m Q

FRONT BUMPER REAR LAMP (L/R)

2 PCS 1 PCS 2 PGS

PRODUCT ASSEMBLY

Before assembly, please open the hood of the car (just press the
Toyota logo to open it) and take out the accessories inside for
assembl

Fix the front bumper

®  Clip the front bumper into the body.

® Fix with M4 * 12mm screw.




PRODUCT ASSEMBLY

@ @ Fix the chimney

®  Clip the chimney into the body.

® Fix with M4 * 12mm screw.




PRODUCT ASSEMBLY

Put the gasket, cart wheels, gasket and nut M 10 into the front axle in turn.
Insert the nut M10 into the hole of iron piece and bend it to fix it and then
attach the wheel cover to the wheel.

Place the gear box (Tips:Left right distinction) ,cart wheels, gasket, and nut M10
on the rear axle in turn.

Insert the nut M10 into the hole of rear axle and bend it to fix it and then attach
the wheel cover to the wheel.



PRODUCT ASSEMBLY

©O®

2000000

Fix the Auxiliary wheel
® Insert auxiliary wheel into the body
® Fix with M4 * 12mm screw.

(Install the other side in the same way)

Put the vehicle upside down

oo

B3cas

G000
ooooo0

1. Find out the main power line under the seat, insert the plug-in of the power line

into the corresponding socket of the receiver, connect one end of the right drive

motor line with the left drive motor line, and insert the other plug-in on the right

into the socket of the receiver.

-




PRODUCT ASSEMBLY

@ Fix the steering wheel.
® Remove the nut and bolt from the steering wheel.
® Connect the wires coming from the steering column to the wires on the
steering wheel.

® Insert the steering wheel over the steering and secure with nut and bolt.

@@ Fix the trunk.

® Insert the trunk into the car.

® Fix with M4 * 12mm screw.

@ Fix the tailstock.

® Insert the tailstock into the car.




PRODUCT ASSEMBLY
Fix the windshield

®  Stuck the windshield into the corresponding slot on the body.

% Fix the seat

® Clip the lower cover cushion flat into the upper cover cushion chuck.
®  Stuck the seat buckle into the vehicle slot.
® Fix with M4 * 12mm screw.

®® Fix the door armrest

® Insert the door armrest into the corresponding slot in the door.
® Fix with M4 * 12mm screw.




PRODUCT ASSEMBLY
@@ Fix the mirror (L/R)

® Insert the mirror(Tips:Left right distinction) into the car window.

® (Install the other side in the same way)

® Fix with M4 * 12mm screw.

Y @
— - —;
T —————
Vo S ), S— q

\ pr—

@ Rear lamp (L/R)

® Insert the rear tail lamp cover into the body and clip it in
® (Install the other side in the same way)




DASHBARD DIAGRAM

H
]
) |
il
P
”
»
»
”
]
’
"
- &
.
-
zl b
l.

—

1. Pedal button: Step on the button , the car will move, when release the car
slowly stop

2. Shift Switch: Change the direction of the car , Forward-Backward

3. Horn button: press to play the horn
Control board:



DASHBARD DIAGRAM

10.
11.
12.
13.
14.

15.

16.

Power display: clearly see the battery power and help judge whether the
battery needs to be charged;

Socket: charge;

Light button: press it to switch the light;

Last song/volume-: press it to switch to the last song and long press can
decrease volume;

Music Button: press it to play music; Long press for 3 seconds to pause
music function

Next song/volume+: press it to switch to the next song and long press can
increase volume;

Power button: can turn the vehicle on or off

High speed button: press it to change the car to the high-speed movement;
Low speed button: press it to change the car to the low-speed movement;
Wireless Technology: After connected your mobile phone and the wireless
device ,the car can play music from your mobile phone

FM:FM radio;



REMOTE CONTROL DIAGRAM

forward backward ~ frequency  turn left turnright Warning
I\ /]

Only used by adults

speed low speed
middle speed
high speed

emergency brake

Remote control first. When the remote control is on, foot pedal is
not workable
Operation Manual:
Take out the remote control, Open the battery compartment on the
back of the remote control and add two AAA LRO3 alkaline batteries.
Pay attention to the polarity of the batteries. When the alignment light
and speed indicator light up, it indicates that the battery installed is
correct. This product does not provide dry batteries.
<Button Description >
(1) Long press on the frequency key(M) 2-4 seconds, Low speed
LED light flashing. Turn on the power of the car, Low speed LED
light keep flashing to long lighting, then frequency bind succeed. If
the frequency bind failed (Low speed LED light flashing) , remove the
battery and repeat steps

P: Press to brake.

S: Speed: press to change speed(low,middle and high speed).

AForward V backward.

<" Turn left [ turn right




2) Brake button: Press it to stop moving; press it again to move.

3) Speed selection key and speed indication: used to select speed of
the car. Press the key once to switch the speed once. 3 speeds are
cyclically switched, and the switching sequence is: low-medium-high.
The speed indicator is arranged from top to bottom on the remote
control: high-speed lamp, medium-speed lamp, low-speed lamp; when
switching to one speed, the corresponding indicator lamp will light
up. Note: The speed grade changes only when moving forward

4) Forward/backward keys: used for forward and backward
movement control. When one of the keys is pressed, the moving
speed will slowly increase to reach the set speed level. Therefore,
children will not have a sudden impact.

5) Left turn/right turn key: used for left and right direction control.

Note: without operation after 10 seconds, indication light will off into
power saving mode




CHARGING INSTRUCT IONS

1.Insert the charger jack into the charging hole of the car.
2.Plug the charger plug into the stable matching AC power supply as shown in the

picture.

®  Charge the battery 15 to 18 hours before initial use.

® On average.you will need to charge the battery between 8 and 12 hours.Do not
charge the battery for more than 20 hours.Failure to charge the battery as
directed could cause permanent damage to the battery and void the warranty

® Damage to the battery may occur if it is allowed to drain completely.Do not
allow the battery to drain completely.

®  Check the battery and charger (supply cord,connector) for wear and damage
before charging.DO not charge the battery if damage has occurred.

® Only an adult who has read and understood the safety warnings should

handle,charge and recharge the battery.



CARING FOR YOUR RIDE-ON

Park the vehicle indoors or cover it with a tarp to protect it from wet weather.

Do not leave the vehicle in the sun for long periods of time or fading may occur.

Store in shade or cover with tarp.

Do not wash the vehicle with a hose.

Do not wash the vehicle with soap.

Charge battery at least once a month to prolong the life of the battery.

TROUBLESHOOT ING

PROBLEM

REASON

SOLUTION

Vehicle does not move

Low battery

Fully charge the battery

Electrical protection

Stop use for several minutes and restart

Switch not in the correct position

Completely press in switches

Battery connectors disconnected

Plug in battery connectors

Battery does not recharge

Battery connectors disconnected

Plug in battery connectors

Charge not connected to socket or outlet

Completely plug in the charger

Battery does not last Battery does not have a full charge Fully charge the battery
Battery is warm and makes a
Normal Normal
slight noise while charging
Low battery Fully charge the battery

Slow speed

Overloaded vehicle

Reduce the weight on the vehicle

Uneven or sloped road

Drive on flat pavement

Vehicles shakes while driving

Loose connection to motor

Ensure the motor is properly connected

to the battery

Difficulty shifting between

forward/reverse

Attempting to shift while vehicle in

motion

Only shift when the vehicle is at a stop

Forward and reverse switch is

flipped

Gear boxes are installed incorrectly

Make sure the L gear box is on the left

and R gear box is on the right




WARNINGS REGARDING BATTERIES
The battery on the vehicle is not replaceable.

® DO not mix old and new batteries.

DO not mix alkaline,standard(carbon-zinc),or rechargeable batteries.
Non-rechargeable batteries should not be charged.

Rechargeable batteries should be charged under adult supervision only.
Exhausted batteries should be removed.

The supply terminals should not be short-circuited.

Do not put batteries next to or in a heat source(fire,electronic heating device,etc.)
Do not hit batteries against hard objects.

Do not submerge batteries in water.

Batteries should be inserted with the correct polarity.

Only use the battery specified by the manufacturer.

Only use the charger specified by the manufacturer.
/\ WARNING:

® Protective equipment should be worn.Not to
be used in traffic.

® The toy should be used with caution since
skill is required to avoid falls or collisions
causing injury to the user or third parties.

® To reduce the risk of injury,adult supervision

is required.Never use in roadways.near motor

vehicles,on or near steep inclines or

steps,swimming pools or other bodies of

water;always wear shoes,and never allow

more than 1 rider.

/\ WARNING: ADULT ASSEMBLY REQUIRED
{\ WARNING: Not to be used in traffic
{\ WARNING: CHOKING HAZARD-Small parts.

Not for children under 3yrs.



FCC Statement

Caution:

This device complies with Part 15 of the FCC Rules. Operation is subject to the
following two conditions: (1) this device may not cause harmful interference. (2) this
device must accept any interference received, including interference that may cause
undesired operation.

Changes or modifications not expressly approved by the partyresponsible for

compliance could void the user's authority to operate the equipment.

This equipment has been tested and found to comply with the limits fora Class B digital
device, pursuant to part 15 of the FCC Rules. These limits are designed to provide
reasonable protection against harmful interference in a residential installation. This
equipment generates uses and can radiate radio frequency energy and, if not installed
andused in accordance with the instructions, may cause harmful interference to radio
communications. However, there is no guarantee that interference will not occur in a
particular installation. If this equipment does cause harmful interference to radio or
television reception, which can bedetermined by turning the equipment off and on, the
user is encouraged to try to correct the interference by one or more of the following
measures:

—Reorient or relocate the receiving antenna.

—Increase the separation between the equipment and receiver.

—Connect the equipment into an outlet on a circuit different from that to which the
receiver is connected.

—Consult the dealer or an experienced radio/TV technician for help.

If you have any questions, please contact our customer care center.
Our contact details are below:

@ 001-877-644-9366
M customerservice@aosom.com

Imported by Aosom LLC
27150 SW Kinsman Rd Wilsonville, OR 97070 USA
MADE IN CHINA



IN240700256V01_US_CA

370-371V80

V@)
Les styles et les couleurs peuvent varier %
ATTENTION e Convient pour les 3-8 ans.

Ce véhicule doit étre assemblé | ® Poids maximum de
par un adulte. I'utilisateur: 30 kg.

Lisez et comprenez I'intégralité de ce manuel avant de I'utiliser!
Veuillez conserver ce manuel pour référence ultérieure car il contient des
informations importantes. Avant la premiére utilisation, chargez la batterie
au moins 4 a 6 heures, mais pas plus de 10 heures.

MANUEL DE L'UTILISATEUR




La notice et I'emballage doivent étre conservés car ils contiennent
1e{l[: {13 des informations importantes.

REMARQUE : Pour de meilleures performances, utilisez ce véhicule uniquement sur
des surfaces plates et dures.

PLAGE D'AGE: 3a8ans
CAPACITE DE POIDS : 30 kg est le poids maximal pour 1 utilisateur (combiné).
Les dangers de sécurité suivants peuvent entrainer des blessures graves ou la mort :

e Ce produit contient de petites piéces. Gardez les enfants a I'écart pendant
I'assemblage. Assurez-vous de retirer tout le matériel d'emballage et les piéces sous
le corps du véhicule.

e Ne jamais ouvrir la batterie. Les batteries contiennent du plomb et des composés de
plomb (acides).

e Les membres, les cheveux et les vétements peuvent étre pris dans des piéces
mobiles. Portez toujours des chaussures, gardez les membres a I'écart des piéces
mobiles et ne portez pas de vétements amples pendant I'utilisation de ce véhicule.

e Ce véhicule ne dispose pas de freins ou de capacité de freinage. Ne laissez pas un
enfant sans surveillance pendant |'utilisation. N'utilisez pas ce véhicule dans un
endroit nécessitant une capacité de freinage, car cela pourrait entrainer une perte de
contrble, ce qui pourrait causer des blessures graves ou la mort.

e | 'utilisation de ce véhicule a proximité de rues, de véhicules a moteur, d'escaliers, de
plans d'eau, de surfaces inclinées, de collines, de zones humides, de vapeurs
inflammables, dans des ruelles, la nuit ou dans I'obscurité pourrait entrainer un
accident inattendu.

e | 'utilisation de ce véhicule dans des conditions dangereuses telles que la neige, la
pluie, la terre meuble, la boue, le sable ou le gravier peut entrainer un accident
inattendu tel qu'un renversement et pourrait endommager le systéme électrique ou la
batterie.

e N'utilisez pas ce véhicule de maniere dangereuse. Les exemples incluent, mais ne
sont pas limités a:

- Tirer le véhicule avec un autre véhicule ou un dispositif similaire
- Permettre a plus de deux enfants de monter

- Pousser l'utilisateur

- Conduire a une vitesse dangereuse

e Le chargeur de batterie utilisé avec le jouet électrique doit étre régulierement vérifié
pour détecter des dommages au cordon d'alimentation, a la fiche, au boitier ou a
d'autres piéces. En cas de dommage, il ne doit pas étre utilisé jusqu'a ce que les
réparations soient effectuées.



AVERTISSEMENTS

Les dangers de sécurité suivants peuvent entrainer des blessures graves ou la
mort :

Les dangers de sécurité suivants peuvent entrainer des blessures graves ou la mort :

e | 'utilisation d'une batterie ou d'un chargeur autre que la batterie rechargeable et le
chargeur fournis peut provoquer un incendie ou une explosion. Utilisez uniquement
la batterie et le chargeur fournis.

e | 'utilisation de la batterie rechargeable et du chargeur pour tout autre produit peut
entrainer une surchauffe, un incendie ou une explosion. N'utilisez jamais la batterie
rechargeable et le chargeur fournis avec un autre produit.

e Des gaz explosifs sont créés pendant la charge. Chargez la batterie dans un endroit
bien ventilé.

Ne chargez pas la batterie prés de sources de chaleur ou de matériaux
inflammables.

e Le contact entre les bornes positive et négative peut provoquer un incendie ou une
explosion. Evitez le contact direct entre les bornes. Prendre la batterie par les fils ou
le chargeur peut endommager la batterie et entrainer un incendie. Prenez toujours
la batterie par son boitier ou ses poignées.

e Les liquides sur la batterie peuvent provoquer un incendie ou un choc électrique.
Gardez toujours tous les liquides a I'écart de la batterie et gardez la batterie séche.
Le contact ou I'exposition a une fuite de batterie (plomb-acide) peut entrainer des
blessures graves. Si un contact ou une exposition se produit, appelez
immédiatement votre médecin. Si le produit chimique est sur la peau ou dans les
yeux, rincez avec de I'eau froide pendant 15 minutes. Si le produit chimique a été
avalé, donnez immédiatement de I'eau ou du lait a la personne. Ne donnez pas
d'eau ou de lait si le patient vomit ou a un état de vigilance réduit. Ne provoquez pas
de vomissement.

e Les bornes, les terminaux de batterie et les accessoires associés contiennent du
plomb et des composés de plomb (acide).

e La manipulation ou la modification du systéme de circuit électrique peut provoquer
un choc, un incendie ou une explosion et endommager définitivement le systeme.
Les fils et les circuits exposés dans le chargeur peuvent provoquer un choc
électrique. Gardez toujours le boftier du chargeur fermé.



AVERTISSEMENTS DESTINES A L'UTILISATEUR

Les dangers de sécurité suivants peuvent entrainer des blessures graves ou la mort :
e Ne laissez jamais un enfant sans surveillance.

e Asseyez-vous toujours dans le siege lorsque vous utilisez ce véhicule.

e Gardez vos mains, vos cheveux et vos vétements a I'écart des pieéces mobiles.

e Portez toujours des chaussures lorsque vous utilisez ce véhicule.

e Les enfants de moins de 3 ans ne peuvent pas utiliser le véhicule.

e Conduisez uniquement sur un terrain plat.

e Ne vous approchez pas des piscines ou d'autres plans d'eau, des précipices, ou des
pentes raides.

e Ne conduisez pas le véhicule sur de la terre meuble, de la boue, du sable, du gravier
fin ou des surfaces mouillées.

e Ne conduisez pas le véhicule sur les routes ou pres des voitures.

SPECIFICATIONS

Elément Spécification
Batteries 12V

Moteur 12V

Age 3+ans

Poids max 30KG

Dimensions |[107x65%55,5cm

Vitesse 1-3km/hr (12V)

Autonomie 1-2 heures / temps de recharge 8-12 heures
Chargeur Sortie DC 12V




Outils requis @ @
Tournevis PINCE ABEC LONG 2 Personnes Approximativement
(a apporter) (NON INCLUSE) Assemblage 45 minutes

Assemblage

0M4*12mm @Joints @10 Ecrous M10
Vis (Préinstallé)
)
@@ 7
24 piéces 7 piéces 4 pieces

A B C D

Roues de chariot Pare-brise Enjoliveur Miroir (G/D)
/[ & =SIr—
= —
\ pua—— ,;"
4 pieces 1 pieces 4 pieces 2 pieces

@ G H

Volant Roue Télécommande
auxiliaire (G/D) R
—— f"Q"'Q'" )
'} @é@ : &0 |
1 piéceé 1 piéces 2 piéces ‘ 1 piéces
0 Chargeur o Contrepoids 0 Accoudoir de o CHIMNEY
a_r_r_ig[g@—;_—, porte <~
_‘f‘ ‘I"‘;I‘l' / f

1 pieces 1 pieces 2 piéces 1 pieces




mCoffre

;;‘

1 piéces

(c_ii |

/
s

mBoTte de vitesses

(GID)

o)

2 piéces

0Pare-chocs avant

1 piéces

)
oFeu arriere (G/D)

Al

2 piéces

ASSEMBLAGE DU PRODUIT

©JO,

5
A

i
AN

=
=
—

Avant I'assemblage, veuillez ouvrir le capot de la voiture (il suffit
d'appuyer sur le logo Toyota pour I'ouvrir) et sortir les accessoires a
I'intérieur pour les assembler.

Fixer le pare-chocs avant.
oClipser le pare-chocs avant dans le corps.
eFixer avec une vis M4*12mm.




ASSEMBLAGE DU PRODUIT

@ @ Fixer la cheminée.
oClipser la cheminée dans le corps.

eFixer avec une vis M4*12mm.




ASSEMBLAGE DU PRODUIT

Mettre les joints, les roues de chariot, les joints et |a Ecrous m10 dans I'essieu
avant a tour de réle.

Insérer la Ecrous M10 dans le trou de la piéce métallique et la plier pour la fixer,
puis attacher I'enjoliveur ala roue.

Placer la boite de vitesses (conseil : distinction gauche droite), les
roues de chariot, le joint et la Ecrous M10 sur I'essieu arriére a tour
derdle.

Insérer la Ecrous M10 dans le trou de I'essieu arriére et la plier pour
la fixer, puis attacher I'enjoliveur a la roue.



ASSEMBLAGE DU PRODUIT
@ @ Fixer la roue auxiliaire.

elnsérer la roue auxiliaire dans le corps.
eFixer avec une vis M4*12mm.
(Installer I'autre c6té de la méme maniére.)

mmmnnmmn I

H\lllllﬂ!lllll”lm ‘

..ummllnnmmnm '=‘

uumummmmw

i m‘rllﬂflllllﬁ'.llll k=
I

il ll[ﬂl\lllllllllillil 1 -

Mettre le véhicule a l'envers.

1. Trouver la ligne d'alimentation principale sous le siege, insérer la fiche de la
ligne d'alimentation dans la prise correspondante du récepteur, connecter une
extrémité de la ligne du moteur d'entrainement droit avec la ligne du moteur
d'entrainement gauche, et insérer 'autre fiche sur la droite dans la prise du
récepteur.




ASSEMBLAGE DU PRODUIT

@ Fixer le volant.
eRetirer I'écrou et le boulon du volant.

eConnecter les fils venant de la colonne de direction aux fils du volant.

Insérer le volant sur la colonne de direction et fixer avec un écrou et un
boulon.

@ @ Fixer le coffre.
e|nsérer le coffre dans la voiture.

eFixer avec une vis M4*12mm.

@ Fixer le contrepoids arriére.
e|nsérer le contrepoids arriere dans la voiture.




SCHEMA DU TABLEAU DE BORD

Fixer le pare-brise.
eCoincer le pare-brise dans la fente correspondante sur le corps.

Fixer le siege.
eClipser le coussin inférieur a plat dans le mors du coussin supérieur.

eCoincer la boucle du siége dans la fente du véhicule.
eFixer avec une vis M4*12mm.

@ @ Fixer I'accoudoir de porte.
elnsérer I'accoudoir de porte dans la fente correspondante de la porte.

eFixer avec une vis M4*12mm.




ASSEMBLAGE DU PRODUIT
@@ Fixer le miroir (G/D).

e Insérer le miroir (conseil : distinction gauche droite) dans la fenétre de
la voiture.

(Installer I'autre c6té de la méme maniere.)
e Fixer avec une vis M4*12mm.

¥

--»>

Feu arriére (G/D).
e Insérer le couvercle du feu arriere dans le corps et le clipser.
(Installer I'autre c6té de la méme maniére.)




SCHEMA DU TABLEAU DE BORD

o

;

1. Bouton de pédale : Appuyez sur le bouton, la voiture se déplacera; en
relachant, la voiture s'arrétera lentement.

2. Interrupteur de changement de vitesse : Changez la direction de la voiture
(Avant-Arriére).

3. Bouton de klaxon : Appuyez pour activer le klaxon.

4. Tableau de contrdle :



® ® O

| o—————— | | co—r—— |

S [ Jooooo ()4 )
QMH vl o |2 e

1

— 7

» @ OO ©@ ©Gdd G

5.U

6. Affichage de la puissance : voir clairement la puissance de la batterie et aider a
juger si elle doit étre chargée.

7. Prise : pour charger.
8. Bouton d'éclairage : Appuyer pour allumer/éteindre la lumiere.

9. Derniére chanson/volume- : Appuyer pour passer a la chanson précédente et
maintenir pour diminuer le volume.
10. Bouton de musique : Appuyer pour jouer de la musique ; maintenir 3 secondes
pour mettre en pause la fonction musique.

11. Chanson suivante/volume+ : Appuyer pour passer a la chanson suivante et
maintenir pour augmenter le volume.

12. Bouton d'alimentation : Peut allumer ou éteindre le véhicule.

13. Bouton de haute vitesse : Appuyer pour que la voiture passe en mouvement a
grande vitesse.

14. Bouton de basse vitesse : Appuyer pour que la voiture passe en mouvement a
basse vitesse.

15. Technologie sans fil : Aprés avoir connecté votre téléphone mobile et I'appareil
sans fil, la voiture peut jouer de la musique depuis votre téléphone.

16. FM : Radio FM.



SCHEMA DE LA TELECOMMANDE

Fréquence Tourner a gauche / .
Avancer/reculer Tourner a droite Avertissement

Utilisation réservée aux
adultes

Vitesse Vitesse lente
Vitesse moyenne
Vitesse rapide

Frein d'urgence

Priorité ala Télécommande : Lorsque la télécommande est activée, la
pédale ne fonctionne pas.

Manuel d'Utilisation :

Sortez la télécommande, ouvrez le compartiment a piles a l'arriére de la
télécommande et ajoutez deux piles AAALRO3 alcalines. Faites attention a la
polarité des piles. Lorsque le voyant d'alignement et I'indicateur de vitesse
s'allument, cela signifie que les piles sont correctement installées. Ce produit
ne fonctionne pas avec des piles séches.

Description des Boutons:

1. Appuyez longuement sur le bouton de fréquence (M) pendant 2-4 secondes,
le voyant LED de vitesse lente clignotera. Allumez la voiture, le voyant LED
de vitesse lente clignote jusqu'a rester allumé en continu, la liaison de
fréquence est réussie. Sila liaison de fréquence échoue (le voyant LED de
vitesse lente clignote), retirez la batterie et répétez les étapes.

P : Appuyer pour freiner.

S : Vitesse : appuyez pour changer de vitesse (basse, moyenne et haute
vitesse).

A Avancer V Reculer

<«Tourner a gauche » Tourner a droite




2. Bouton de frein: appuyez pour arréter le véhicule ; appuyez a nouveau pour
le faire avancer.

3. Sélecteur de vitesse et indication de vitesse : utilisé pour sélectionner la
vitesse du véhicule. Appuyez une fois sur le bouton pour changer de
vitesse. Trois vitesses sont commutées de maniére cyclique : basse-
moyenne-haute. L'indicateur de vitesse est disposé de haut en bas sur la
télécommande : voyant de haute vitesse, voyant de vitesse moyenne,
voyant de basse vitesse ; lors du changement de vitesse, le voyant
correspondant s'allume. Remarque : Le changement de vitesse ne se
produit que lorsque le véhicule avance.

4. Boutons Avancer/Reculer : utilisés pour le contréle du mouvement avant et
arriere.

Lorsque I'un des boutons est pressé, la vitesse de déplacement augmente
lentement jusqu'a atteindre le niveau de vitesse défini, afin que les enfants
ne subissent pas d'impact soudain.

5. Boutons Tourner a gauche/Tourner a droite : utilisés pour le contréle
directionnel.

Remarque: Sans opération pendant 10 secondes, le voyant s'éteindra en
mode économie d'énergie.




INSTRUCTIONS DE CHARGE

1. Insérez la prise du chargeur dans le trou de chargement de la voiture.

2. Branchez la fiche du chargeur dans une prise de courant alternatif stable, comme
indiqué sur I'image.

e Chargez |la batterie pendant 15 a 18 heures avant la premiére utilisation.

e En moyenne, vous devrez charger la batterie entre 8 et 12 heures. Ne chargez pas
la batterie pendant plus de 20 heures. Ne pas charger la batterie comme indiqué
pourrait causer des dommages permanents a la batterie et annuler la garantie.

e Des dommages a la batterie peuvent survenir si elle est complétement déchargée.
Ne laissez pas la batterie se décharger complétement.

e Vérifiez la batterie et le chargeur (cordon d'alimentation, connecteur) pour l'usure et
les dommages avant de charger. Ne chargez pas la batterie si des dommages sont
constatés.

e Seul un adulte ayant lu et compris les avertissements de sécurité doit manipuler,
charger et recharger la batterie.



ENTRETIEN DE VOTRE VOITURE ELECTRIQUE

e Garez le véhicule a l'intérieur ou couvrez-le avec une bache pour le protéger des

intempéries.

e Ne laissez pas le véhicule au soleil pendant de longues périodes pour éviter la
décoloration. Rangez-le a 'ombre ou couvrez-le avec une bache.

e Ne lavez pas le véhicule avec un tuyau.
e Ne lavez pas le véhicule avec du savon.
e Chargez la batterie au moins une fois par mois pour prolonger la durée de vie de la

batterie.

DEPANNAGE

PROBLEME

CAUSE

SOLUTION

Le véhicule ne bouge pas

Batterie faible

Chargez complétement la batterie

Protection électrique

Arrétez I'utilisation pendant plusieurs|
minutes et redémarrez

Interrupteur pas dans la bonne position

Appuyez complétement sur les
interrupteurs

Connecteurs de batterie débranchés

Branchez les connecteurs de la
batterie

La batterie ne se recharge
pas

Connecteurs de batterie débranchés

Branchez les connecteurs de la
batterie

Chargeur non connecté ala prise ou a
la prise murale

Branchez complétement le chargeur

La batterie ne dure pas

La batterie n'a pas une charge
compléte

Chargez compléetement la batterie

La batterie est chaude et fait
un léger bruit pendant la
charge

Normal

Normal

Vitesse lente

Batterie faible

Chargez complétement la batterie

Véhicule surchargé

Réduisez le poids sur le véhicule

Route inégale ou en pente

Conduisez sur un pavage plat

Le véhicule tremble pendant
la conduite

Connexion lache au moteur

Assurez-vous que le moteur est
correctement connecté a la batterie

Difficulté a changer entre
avance/recul

Tentative de changement de vitesse
pendant que le véhicule est en
mouvement

Changez de vitesse uniquement
lorsque le véhicule est a I'arrét

Interrupteur avant et arriere
inversé

Les boites de vitesses sont mal
installées

Assurez-vous que la boite de
vitesses G est a gauche et la boite de
vitesses D est a droite




AVERTISSEMENTS CONCERNANT LES PILES

e | a batterie du véhicule n'est pas remplagable.

e Ne mélangez pas des piles anciennes et nouvelles.

e Ne mélangez pas des piles alcalines, standard (carbone-zinc) ou rechargeables.
e Les piles non rechargeables ne doivent pas étre rechargées.

e Les piles rechargeables doivent étre rechargées sous la supervision d'un adulte.
e Les piles épuisées doivent étre retirées.

e Les bornes d'alimentation ne doivent pas étre court-circuitées.

e Ne placez pas les piles a proximité ou dans une source de chaleur (feu, appareil de
chauffage électrique, etc.).

e Ne frappez pas les piles contre des objets durs.

e Ne plongez pas les piles dans I'eau.

e Les piles doivent étre insérées avec la polarité correcte.
e Utilisez uniquement la batterie spécifiée par le fabricant.
e Utilisez uniquement le chargeur spécifié par le fabricant.

& ATTENTION :

e Des equipements de protection doivent étre portés. Ne pas utiliser dans la
circulation.

e Le jouet doit étre utilisé avec précaution car des compétences sont nécessaires pour
éviter les chutes ou les collisions pouvant causer des blessures a I'utilisateur ou a
des tiers.

e Pour réduire le risque de blessure, la supervision d'un adulte est requise. Ne jamais
utiliser sur les routes, prés des véhicules motorisés, sur ou prés des pentes raides
ou des marches, des piscines ou d'autres plans d'eau ; toujours porter des
chaussures et ne jamais permettre plus d'un passager.

& ATTENTION: ASSEMBLAGE PAR UNADULTE REQUIS

& ATTENTION: Ne pas utiliser dans la circulation.

& ATTENTION: RISQUE D'ETOUFFEMENT - Présence de petites piéces.
Non recommandé aux enfants de moins de 3 ans.



Déclaration FCC

Attention :

Cet appareil est conforme a la partie 15 des régles de la FCC. Son fonctionnement
est soumis aux deux conditions suivantes : (1) cet appareil ne doit pas causer
d'interférences nuisibles. (2) cet appareil doit accepter toutes les interférences
recues, y compris les interférences pouvant provoquer un fonctionnement indésirable.
Les modifications ou changements non expressément approuvés par la partie
responsable de la conformité pourraient annuler I'autorité de I'utilisateur a utiliser cet
équipement.

Cet équipement a été testé et jugé conforme aux limites pour un appareil numérique
de classe B, conformément a la partie 15 des régles de la FCC. Ces limites sont
congues pour fournir une protection raisonnable contre les interférences nuisibles
dans une installation résidentielle. Cet équipement géneére, utilise et peut émettre des
fréquences radio, et s'il n'est pas installé et utilisé conformément aux instructions, il
peut causer des interférences nuisibles aux communications radio. Cependant, il n'y a
aucune garantie que des interférences ne se produiront pas dans une installation
particuliére. Si cet équipement cause des interférences nuisibles a la réception radio
ou télévisée, ce qui peut étre déterminé en éteignant et en rallumant I'équipement,
I'utilisateur est encouragé a essayer de corriger l'interférence par une ou plusieurs
des mesures suivantes :

— Réorientez ou déplacez I'antenne de réception.

— Augmentez la distance entre I'équipement et le récepteur.

— Connectez I'équipement a une prise sur un circuit différent de celui auquel le
récepteur est connecté.

— Consultez le revendeur ou un technicien radio/TV expérimenté pour obtenir de
I'aide.

If you have any questions, please contact our customer care center.
Our contact details are below:

Sivous avez la moindre question, veuillez contacter notre centre d'assistance a la
clientéle.

Nos coordonnées sont les suivantes:

@ 416-792-6088

b.'.4 customerservice@aosom.ca

Imported by Aosom Canada Inc.

7270 Woodbine Avenue, Unit 307, Markham, Ontario Canada
L3R 4B9

MADE IN CHINA

Importé par Aosom Canada Inc.

7270 Woodbine Avenue, unité 307, Markham, Ontario Canada
L3R 4B9

FABRIQUE EN CHINE





